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100

Time : 3 Hours

696 /Nyaya Vaisheshika (iii)
Research Entrance Test-2023

No. of Questions : 100
Y91 skt €= : 100

Full Marks : 400

qET : 3 qUS quTig : 400

Note: (1)

(2)

(3)

This Question Booklet contains 100 objective questions (MCQs)
of which 50 Objective questions are based on components of
Research Methodology and 50 Objective questions are based
on concerned subject.

9 ULA-RTH H HA 100 TS 997 (THoHoFo) € |
ST 50 axfTe use <Y Ul & Huchl 93 SAEma 8
AR 50 IEfrse gs= defad favg ud &5 o onaa 2 |

Attempt as many questions as you can. Each question carries
4 (Four) marks. Zero mark will be awarded for each
unattempted question. There will be no negative marking for
wrong answer.

IA 99T B BA HIA BT JIH B oTaAT 3T HT Tob | IIh
U 4 (|X) SFhT &1 2 | e AT 99T H Ui A
BN | T 3cdY o [T bl SROMHS i el 3T S |

If more than one alternative answers of MCQs seem to
approximate the correct answer, choose the closest one.

i IS TSl & Teh § 39 Jehicdsh IOY el I &
e udid 8f, af Mehead 98l I < |

3 P.T.O.
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01. Which among the following is an example of open-source data analysis 89. Qlor\;dfld\‘idr Q\IW\LUIH’}R‘I@I fd ;IHOI»I(WH#:W]TWF{W—
software ? (1) Vo= (2) T
Fefafag & & $F-a1 A9T-ad ATHST [aduer digeday & TH
SR & 7 (3) sh=a= (4) TmEn:
(1) SPSS (2) JASP
UHo o UHo THo @fo To THo Jlo o ¢ .
(3) Graphpad Prism (4) SAS 90. 3ITIUYTHMILEYHIA dGUUIG I YIA<Rehed- TI&TITHI-
METS Brm Tdo o THo (1) SIgfo: (2) ST
02. What are the conditions in which Type-II error occurs ? (3) ﬁﬁl@@r (4) T

I H-dr Rafoat € BEH @R9-1 Ffe S B g P
(1) The null hypothesis gets accepted even if it is false.

%1\?{ IR ST —Eﬁﬁ L Eﬁ% —53[ ST %l 91. JAThIANAUNTAE AFIHIQIELUT ddd—
(2) The null hypothesis gets rejected even if it is true. (1) T .355‘“ IR (2) T T RS
T IREFT T BN W A I & S ol (3) T & =B (4) BTN gSf
(3) Both t}(lie null hypothesis as well as alternative hypothesis are
rejected. . , 92. U] YeCHIEHR &h: Hlsrehy: ?
T IR AR s TRFCYAT Q1 SFEHR B A B (1) &P (2) TTHETE:
(4) The null hypothesis gets accepted even if it is true. 3 i . JRQE- '
T TR A BN W A Wiga & o 2 (3) FHGAHA: () ¥
03. Following are some steps used in research. Choose the appropriate 93. gﬂﬁ; & ey ?
sequence of steps in completion of research work : 0 e \rlfé‘i\ - o) wETEE wE
g F ITART FPU T a1l HB =TT FAfIRad € | g &H1F &l g0 A (1) ST R (2) A
% g =en @& SRd w9 99 (3) IFEH (4) FERHES Y
(i) Literature survey
Hifed qaereT 94. TEAY: T&T: F:?
(ii) Developing hypothesis (1) = (2) ETERT:
R (3) EHR: (4) TR
(iii Preparation of research design
(iv) Sama;irng plan 95. WAV el -
v
P (1) =Afa: (2) 3TeATE:

(v Hypothesis testing (3) eAfqeA: (4) i

iR e 96. fIqE @iefvi grqafa 7 dafd fo=m: &:?
(1) (), (i), (iv), (i), (v) (2) (Q), (@), (ii), @), (v) (1) uden (2) STIHMH
(3) (1), (), (iii), (iv), (v) (4) (1), (@v), (i), (1), (v) (3) IHY (4) =R

4 29 P.T.O.



RET/23

81.

82.

83.

84.

85.

86.

87.

88.

696/Nyaya Vaisheshika (iii)

TR {gdd Hfd SrHaraiscd Gfd SHadc eIomHiad-

(1) S (2)
(3) THIRE (4)
AR AR EHaT IRl Tafd-
(1) =4 (2)
(3) (4)
HfaTe A =R sfaenftaareme fagromyg
(1) faforegamsiedey (2)
(3) STATIRITI Ao (4)
Tefifiiane wesfa-
(1) 550 o7 )
(3) 300 oA )
A S eI aaTaIeh e TTEeh! S Ra-
(1) Faea: (2)
(3) TicleRTS: (4)
& 3 A fassfa?
(1) o= (2)
(3) wed )
IMegae T sueTeRa wet: wafd-
(1) SATHITHTE: (2)
(3) AT (4)
YRR S foh smeesy ?
(1) AR (2)
(3) EHL: (4)
28

oo
AT

1T
GrHEH

N

faforeerrEfeded
CEINIISEIRCEN
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d
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04.

0S.

696/Nyaya Vaisheshika (iii)

When the person lifts material that they have previously published

and passes it off as their own new work is known as :

ST HI3 AR AUl ded d THNAG HI TS ATEN FH AT & AR 39
AYT AU HE H TG F TGT HIAT &, Al A HeE AW €

(1) Mosaic Plagiarism (2) Accidental Plagiarism
qisieh @ieicash =R D Heicash =R
(3) Self-Plagiarism (4) Minimal Plagiarism
w-Hiieferes =R | e =K
Match the Column-I with Column-II and choose correct option :
e -1 ® ' I A A ol |8l fased g
Column-I Column-II
w9-1 wWH-11
A. Explanatory research (i) Understanding causes and
consequences of phenomenon
AT STIHE gl & BRI AR GROME! & FHE
B. Descriptive research (ii) Discover new phenomenon
oIS ST T3 g & @
C. Exploratory research (iii) Describing existing phenomenon
CIEEURCNGRIN] HISEl HeHT 1 qi
Code :
g :
(1) A-(i), B-(iii), C-(i) (2) A-({), B-(iii), C-(ii)
(3) A-(i), B-(i), C-(iii) (4) A-(ii), B-(ii), C-(i)

5 P.T.O.
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06. Which of the following is not an appropriate tool for data analysis ? 74. TATEREE HISY:?
frafeafag & & fi9-a1 srer @ & /e Sugad Suser 98 ® 7 (1) We: (2) @
(i) SPSS (ii) MS-Excel (3) oTgH: (4) Todr:
THo Ylo UWHo UH TH oUH o-UeFe
(iii) R (iv) Python 75. HAURATHE: TH: & ?
ST qTEe (1) g4 (2) |HATE:
(v) Windows (3) whifcTeh: (4) TETEE
Co‘zrfﬁﬁ 76. Jrdaugeh I foh wafd-
- - (1) 3Tqva: (2) T<E:
(3) wm: (4) wfa:
(1) Only (ii) (2) (i) and (iii)
A (ii) (if) N (iii) 77. SRR AEH AL THfoTae Aevmi-
(3) (il and (iv) (4) Only (v) (1) TAEE (2) W=
(if) & (iv) 3 (v) (3) =: (4)  TeTeETm:
07. In an experiment conducted on goats, the following were measured 78. mmﬁ@m@w REMEISE
on each animal in the study : Sex, weight (in kg) and birth order. The (1) 9&& (2) HIETHE
scale of measurement of these variables are : (3) fouere (4) 9&darA:

FHAT g¥ FT T T AT H, TIE H TS oHdaX U MErad &l
qMqT =T A, a5 (RRITo H) ofR SWH | 3 I & JIA HOugE

79. TR dEHR-

Amafrt o (1) =Ama: (2) 3TeATE:
(1) Nominal, Ratio, Ordinal (2) Ordinal, Ratio, Ratio (3) Afeemfea: (4) SoTWE:
A, U, hih ShiHeh, STUId, STUTd 80. SYAGIHIA AT o
(3) Ordinal, Ratio, Interval (4) Nominal, Nominal, Ordinal (1) e 2 F
hiteh, ST, ST I, THd, hidn (3) e (4) Fere:

6 27 P.T.O.
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67. &R foh 9 vafa?

(1) uiHvSeIH (2) e

(3) FL: (4) I9E:
68. TH: ufHf foh wafa?

(1) Heq (2) &9

(38) TE| (4) THAET
69. Hfiftehgac 5= fawsfa?

(1) (2) @

(3) dsit& (4) vHEfG
70. STEANNETHS Hed TRIAMfeTaa ?

(1) IR (2) S

(3) ITHEH (4) TIAT=HA
71. TCHVE WERASHTES: qerdista -

(1) S (2) fomm:

(3) THA: (4) 3T
72. TRSTISOMSiaEast: &3 fassfa?

(1) Yo (2) difE

(3) @i (4)
73. GhAdrEAad TSI eufaaiie aeorfi-

(1) = (2) WEE

(3) IR= (4) TETIEH

26
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08. Which among the following is not an example of primary data ?
fr=fafea & @ @9-ar arafis offems &1 e 98 B 7
(1) Data collected through surveys
T B W A THEA SiES
(2) Data collected through interviews
THEH & HEAH & TH 3iibe
(3) Data collected from experiments
T UHR SThe
(4) Data collected from national census reports

T TOMT viqaes § UhEa aiihe

09. Kurtosis of a standard normal distribution is :

U% HEE TEHRT fFa¥er # fEHEdar © o

(1) Zero (2) Three
S d

(3) Two (4) One
q T

10. A subset that is chosen from population is known as :

Th IuEgEEE (8 Uh SHde @ g S 8, dhedrdl 8o

(1) Parameter (2) Variable
IS EN
(3) Sample (4) Statistic
yferast Faest
7 P.T.O.
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11. A Which of the following is not applied in research involving qualitative 59. 3Tl N m fe?
variables ? (1) Hma (2) TecH
(3) IMH (4) 3TEH:
Frefefad & @ &9 s =3 B Fied B A srgda #ougad
TE ST & 7 60. TRIATETEN TON FUHES ASISUEH i < ?
(1) Proportion (2) Diagram E;; ;?MIHI&;IO"«IHW: Ei; g‘i ::
KRR SR
(3) 0dds ratio (4) Mean 61. TE USSR eI A HIaehes TI&TuTAfed-
e (1) STTehIeT: (2) I
I el (3) TR (4) =
12. Read the following statements and choose true statement(s) : 62. TEAM YA e Fafa?
frfafaa wot & 98 o) g FUF gH (1) St (2) <R
E! (3) feruerm: (4) e
(a) Independent variables are unknown variables.

e T 9T TX Y 63. SiaaI: &g 9 ?

1) T 2) BN
(b) Dependent variables are unknown variables. () @
(3) W= (4) gu=

A =) ST =X 2
(c) Research decisions are made on dependent variables. 64. ~FHSSKIFR: %:?

ITag ot ey =X W R ST ¥ (1) SIS (2) SR
Code: (3) herEfh: (4) IEOS:
% 65. YU TAITHEIHN: &F: ?

(1) Only (a) (2) (a) and (b) (1) == (2) A<=
Fat (a) (2) 3R (b) (3) = (4) 9
(3) (b) and (c) (4) (a) and (c) 66. =IESYH THATUT HeEA fawrd ?
(b) R (c) (a) R (¢) (1) &= (2) e
3) U= (4) &l

N

8 25 P.T.O.
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51. =AHd 3fSMMQUS g 98 *aifd? 13. The sampling method in which after random start, every 'kth' individual
(1) LRE L (2) igl kit is selecting from the population list is known as :
(3) N (4) N . - . [N
Teh IIgiessh ARY & IUNA IT9EdT gl & i ‘kal’ &ferd @l =aia
52. WUEI ®H UG With: ? HIA Al foeas fafr ®
(1) STEHASH (2) FHAH (1) Simple random sampling
) C ) C M AE8S Ticeas
53. FcIaca=E sl h: ? (2) Systematic sampling
(1) T (2) ST PHES, Sfrads
(3) SRR (4) TETER: (3) Stratified sampling
54. 3TIHCAT IS |ied ferd ? e afrera=
(1) STIcH (2) AR (4) Cluster sampling
SATcHAH 4
(3) s (4) S -
55. oo HAuadl AgHM GG i TealvE: ?
(1) TEurars: (2) SAFETES: 14. In stratified random sampling, how the strata within the population
(3) erefEfs: (4) ensEIHRS: are decided ?
Thd agfees dfaad & sHEe & @ & Fgiver $8 B s
56. IR FHal 7 Sld: ? g7
(1) IHINST (2) T (1) Randomly
(3) WA (4) STIEMC: argfees w9 9
(2) Based on specific characteristics of population
o~ ~ N o o o 7 .
57. TIHNTHHANIRRUTATd=dGehdAT THSGI SITTAE] £ ST % Rifarse ﬁmﬁﬁ W oTaRa
(1) SATH (2) TOTEHq :
3) Fdam (4) TIEn (3) Using a pre-defined pattern
gg-MaiRa e ® ST F
58. @ Ift sTSHTHAAETES STHHISTTIIEH HAT TG ? : : .
(4) Using geographical proximity
(1) TRRHTT (2) I
(3) @A (4) THET AR FHOAT & STER %

24

9 P.T.O.
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15. A longitudinal research design is :
UF Ages AFEUE AMHEHT T
(1) Studying multiple groups simultaneously
%3 TYEl H GHHNAS AT
(2) Collecting data at a single point in time
TH & T W SAHS! H HHET
(3) Observing participants over an extended period of time

U [qEaia G9amary ae SireE ol Seror

(4) Analyzing historical data
ufefs STTwhst &1 faLAuer T

16. Which research design investigates the cause and effect relationship
between variables ?
HIF-AT ATHI ARTHT T B G TAE-HROT GH= HI e Bl

g7

(1) Descriptive design (2) Correlational design
Ui AR HeHweTHE AR

(3) Experimental design (4) Case-study design
SN SATTehed HE-HAGT ADRT

17. Which of the following is not a primary purpose of a literature review
in research ?

=1 & & @i Ao aHieT ® e 3% T8l © 7
(1) To summarize the researcher's findings
SN & AT H HACHBL
(2) To provide a historical background of the topic
fwar 1 fceiiaes TodfH Y& H
(3) To identify gaps and justify the need for the study
SIG! B TEd BT A ST B AR Hl I S8l
(4) To present statistical analysis of the data

ATt o i fasaser awgd &

10
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47. The mean of the standard normal distribution is :

H9h IEMET S Bl H1e9 &

(1) Zero (2) One
T %
(3) Infinity (4) Fifty

e =

48. In Harvard style of referencing for a book, which among the following
comes in the last ?

fpdl g&a% &I BEs Aal H HaHd & & [ FeEaiad #§ @ @e-an
AT H AT B P

(1) Book title (2) Year of Publication
SEAE R I RC RIS & I

(3) Place of Publication (4) Publisher
JPIMT bT T 1D

49. Which of the following educational program is not govern by IGNOU ?
1 & | @9-ar Aferes FriET IGNOU zrT danfad 787 & 7

(1) Gyan Darshan (2) Gyanvani
M &S EIRCIL]

(3) Swayam (4) e-Kosh
Y -3

-

50. The word research is derived from the French word :

ae 9r=%, B9 == F 997 B ¢

(1) Recherche (2) Reserch
e R
(3) Ricirch (4) Resorce
R R
23 P.T.o.
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a4.

45.

46.

The type of ANOVA employed in analysis of Completely Randomized
Design is :

gl qrefesd ANEeed & [y H§ ugE G & AHR 8

(1) One way (2) Two way without replication
T SRy & R e

(3) Two way with replication (4) Three way
fcpicr & &1 IAH GIEGECR

Which of the following is susceptible with research ethics ?
Frefafed § @ &9 Agda Afdswar & ufaq Afq-dagasia 2 7
(1) Reporting of research findings

sy Freedt @ R

(2) Inaccurate application of analysis techniques

EESERICERIE N7 I SRR KRR

(3) Choice of sampling technique
yfcaae Al & ad-
(4) Faulty research design

Qe <y fEsga

In finalizing the thesis writing format which of the following would
form part of supplementary pages ?

AT T 99 F A w9 39§ FrAfaiad § 9 HF-91 T6 gl
% fewdr enm ?

(1) Appendices (2) List of tables and figures
Rfare e SR SRSt H g
(3) Table of contents (4) Conclusion of the study
et e A ey
22
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18. Which statistical measure describes the central tendency of a data set ?

H-AT Gt Ao Alhst & AT Hl Had WG H ao &l © 7

(1) Standard Deviation (2) Range
CINEAEERE] TR

(3) Mean (4) Variance
qe qqT

19. What does a p-value in statistical analysis indicate ?

it @y # p-Ae T SR wRar B 7
(1) The size of the data set
HAThSl & Y= H AR

(2) The probability of obtaining results by chance under null
hypothesis

L URETT & SR A Bl ATHRAD TG F I FHA Bl Gl
(3) The mean of the data set
SATHST & TY==IT HT HTHA

(4) The variance within the data set
SATHS] & TY=AT HT T

20. What does the term 'outlier' refer to in data analysis ?

afhel & fasauer & ‘Sfewey ge<’ sz &1 F1 off 8 ?
(1) A data point that lies within the expected range

TH AT g S ofuferd & & 2 B
(2) A data point that does not fit the overall pattern of the data

T AT &g S oiiepet & i Yot & fbe & 2m B

(3) The average value of a data set

HiHST T HI AT A
(4) The data point that lies between the first and third quartile
SATHST T==d d Usd oY deR Igd® & = & AW

11 P.T.O.
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Instructions (Q. No. 21 & 22 ) : Review the monthly website traffic 41. The principle of experimental design which helps in minimizing the
data for site xyz in the year 2023 provided in the data below. Choose bias is :

the correct answer for each question given below : B . .
39T (Jo Ho 21 do1 22) : FIm &g {Ru T a¥ 2023 # dAE< xyz & TR AT fHaid STt A & FAaH &3 H88 HIT ©

Hqieh Jq@Ee AR SATHST Hl THIET | A" &T T g 999 B (1) Replication
foe |8 ST gH
Monthly Website Traffic data for the Site xyz (Year-2023) :
xyz 9IgC & g AT J9EEe aaEa Siwsl (a9-2023) (2) Randomization
Month Visitors q@w
qEIT CH o (3) Local Control
January 3,50,000 wHg e
STE licati q domizati
February 3,80,000 (4) Replication and Randomization
B i iR ArgfeswiEmTT
March 3,00,000
qref 42. The minimum number of levels in an experimental design should be :
;}%I;l 4,20,000 Teh TR ATMRed § T Bl PAqH G&A 8|l = ey
May 4,00,000 (1) One (2) Two
O3 T &
June 4,50,000 (3) Three (4) Zero
KN SIS L
July 4,30,000
= 43. Which of the following experimental design is preferred when one of
August 4,70,000 the factors needs more experiment material than the second factor ?
SHITEA .
September 3.80.000 ST Rl TH HE Bl gAL BH Bl godl H AR T G H
et T AR Bl g, a Frefaraa # 9 fFE uEemes Afueey ®i
October 4,10,000 srefaeEar & SR ® 7
SAFTIT (1) Latin Square Design (2) Lattice Design
November 4,80,000 qfest  STeRed qifed Stféresed
NERSES . .
3) Split plot 4) Strip plot
December 5,00,000 ) p pv ) pf)
gy fewre wife SARSICE
12 21 P.T.O.
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38.

39.

40.

Which among the following can be used as post hoc test for means ?
fFrfefad & @ &9 @1l & e qRe-gih 9Ew H1 Il 8 7
(1) Run test

T e
(2) One Sample t-test
s sfcresl t-odereT
(3) Chi Square test for goodness of fit
Tenq 3G e % [T 1 & e
(4) Independent t-test
S RE M|
Which among the following is a referencing software ?
Frfafad § 9 HI9-91 T IHET digeday 8 7
(1) Canva (2) PubMED
el EECE
(3) EndNote (4) Sci-Hub
ESSHIC SIESEE|

Which among the following is not an example of plagiarism detection
software ?

fr=fafiag & @ o aifefcas = &1 991 T ar QiFedIY HT a0l
& 2 7

(1) Mendeley (2) Drillbit
EES] ERIEC
(3) Urkund (4) Turnitin
e et
20
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21.

22.

23.

The average monthly visitors (rounded) for site xyz in 2023 is :

g3c xyz & [0 A 2023 F HAifgs ofrad aLfw (qoited) fRas O ?
(1) 414165 (2) 414167

(3) 414168 (4) 414160

What was the percentage (rounded to zero) decrease in visitors from
April to May ?

AU | HE TH, A1 H UK (YT IX YOTRd) HHI Rl © 7

(1) 8% (2) 5% (3) 10% 4) 15%

The pie diagram given below, shows monthly expenditure of the two
families A and B on various items along with raw data of expenditure
as mentioned in the legend. What will be the ratios of radii of circle A
to B in constructing the pie diagram ?

= o g o™, =g & A itk & 9y v wE 9w &
gl A 3k B & 9% =09 & S90ar 21 98 oIR® & famier § g=r
A & B & Fogrel &1 Agua @& 8rm 7

(1) 9:10 (2) 100:81 (3) 10:9 4) 1:1
e s —
Family A | Family B
|
CIREIII A i l'lftEIII B
| O Food HIst
O Food $rae | (%. 2700)
i O Cloth F%
E Cloth F9% {%. 800) |
. (%. 500) |
| = 0 Rent T |
| | | O Rent famma
Tl |' (5. 1500) 1% 100)
\ | education| " / [ Education f3re
e |/ / O Education R (5.1800)
H 15%
7] aom y (% 2000) Rs—-
| | T | s O misc. fafaer (.1800) |
] |ClolhI (5. 2500) |

13 P.T.O.
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Instructions (Q. No. 24 & 25) : Review the given figure which shows the
manufactured vehicles by two companies A and B during the year 2015
to 2020. Choose the correct answer for each question given below :
s (Jo Ho 24 T 25) : Fuar A= Ru & 7% e a¥ 2015 4
2020 % IE & FUFAET A ik B @y ST aredt @i gerar &, @
gHiEm FHIve | J= @Y T gd% 99 & fu @@ I g |

Number of Vehicles Manufactured by Companies A and B during
2015 to 2020

400
335 336 337
350 +—310—m—Mt—x —3I—mg—
300 LI | |
233 234 235
250 205 206 207
No. of Vehicles . _/W
Manufactured =g Automabile Company A
= = @l= Automobile Company B
100
50
0 T T T T T 1
2015 2016 2017 2018 2019 2020
Year
2015 & 2020 3 3R FF A o B EW
faffia at &t de
400
° 335 336 337
350 |30 g S g s —g
233 234 235
250 205 206 207
d j:; ——difdiagd B A
= &= iRy s B
100
50 ’
0 i , . . g 4
2015 2016 2017 2018 2019 2020
T

14
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36. Match the given study designs in Column-I with Column-II and choose

correct option :
-1 § 3 T eremge orfyeedl &l & -I1 9 fard ok |9 fasew
A

Column-I

q+-1

A. Cross-sectional

B Y

%Y Pl

Case control

Cohort

HIETS

Code :
T :

(1)
(3)

A-(ii),
A-(iii),

B- (i),
B- (i),

C-(i)
C-(i)

Column-II
e er-11
(i) Data comes in future.
Hiws Ao 7 fra 2
(ii)) Data comes at present.
Hips T § fd 2

(iii) Data comes from past.

Hiws @ 9§ B

(2) A-(ii), B-(i), C-(ii)
(4) A-(), B-{i), C-(ii)

37. What is full form of USB as used in computer related activities ?

Frex @ defad TiaareEl § Iu 9 ard USB &1 gof &9 41 8 7

(1)

(3)

United Serial Bus

TAEee RG99

Universal Security Bus

Fiade R s|

(2) Ultra Security Bus
el R =9

(4) Universal Serial Bus

Fiada AT 9

19 P.T.O.
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33.

34.

35.

Among the following sampling methods, which one falls under the
probability method ?

fr=fafRaa ufaez= fafet & 9 H9-ar g9rear & fy & ofaeig omar 8 7

(1) Judgement sampling (2) Quota sampling
Frofg sifcrere HI Hferera

(3) Cluster sampling (4) Convenience sampling
NERIRERE] S IERIIINERE]

The number of possible samples of size 2 out of a population with size
5 using simple random sampling with replacement is :

qicRId & 91 93Xd deiesd giad_ ®l IUANT HXeh AR 5 Jw«l
SHEE § @ TR 2 B 9uEd Gwifad Afqestt & dem §

(1) 25 (2) 20
(3) 10 (4) 12

The sampling method generally used for gathering information on
rare events is:

gAY g UR SRl WS B & [0 Frradn uiderme Gt @
SYIRT fRaT ST ®

(1) Simple random sampling
W qgfesd gfoeas

(2) Stratified random sampling

T UGBS =
(3) Snowball sampling

A (ENtq) e
(4) Systematic sampling

hiteh Jfcaad

18
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24. Difference between the average vehicles manufactured by the

25.

26.

companies during the year 2015 to 2020 is :
g¥ 2015 & 2020 & IR AT g0 FHT aedl & ofida &1 Sfax
g

(1) 205.5 (2) 105.0
(3) 103.5 (4) 107.5

If G, and G, denote growth rates of Companies A and B from 2015 to
2020 respectively, then which of the following is true ?

af& G, NX G, A 2015 4 2020 T HHFEl A R B &l gfa ax &l
e B, @ et # @ sie-ar ' ® 7

(1) G,> G, (2) G,<G,

B) G, =G, 4) G, <G,

The marks of 100 students of a class revealed that about 80 students
scored below 20 marks, 10 students scored between 20 to 80 and
remaining scored between 80 and 100 marks. Which of the following
statements is correct for such data ?

T% HEM & 100 BET & 3l § IaT Il 6 @ 80 BT « 20 € HA {d W<
f, 10 BET 3 20 @ 80 & e &% W R Sl AW 7 80 | 100 9 F
3 o fpu) XY eihel & fore ffeRag & @ -ar e @@ R ?

(1) Mode of the data will be 30
AT & IgaH 30 B

(2) Skewness of the data will be negative
SATHST &1 RO FOIHS  EFT

(3) Kurtosis of the data will be equal to 3
TS 1 FIRA 3 B qWEAL BN

(4) Skewness of the data will be positive

SATHST &1 oSO a=qs e

15 P.T.O.
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27.

28.

29.

The vertical axis in a graph is known as :

% o SHeaiegy 3787 &l ST SIdr 8

(1) Reference Line (2) Abscissa
B @ NESE

(3) Ordinate (4) Double ordinate
affgse gel Affee

Find out the median of the given data set :
11, 12, 14, 16, 16, 10, 18, 19,9, 20
feu wu offdweT @==" HI AAH TG B

11, 12, 14, 16, 16, 10, 18, 19, 9, 20
(1) 15 (2) 16
(3) 13 4) 17

The digital repository of theses and dissertations submitted to

universities of India is known as :
AT & fagaiaenei #§ 9&ga Y gl ud ene e & fSived s
H ST ST 8

(1) Shodhganga (2) Shodhsindhu
ST SNy
(3) Shodhgangotri (4) Vidwan

T CE]

16
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30.

31.

32.

Which among the following pair is not correct ?
Frfafed o & $Hi=-a1 g9 qer q8l § 7
(1) Regression — Galton
SRR — e
(2) Correlation coefficient — Pearson
qedsy T — e
(3) ANOVA - Fisher
T - R
(4) PCA - Gauss

JiET - |

The checklist used to improve transparency in systematic reviews is :

Fgieed gHemeAl ¥ gEiRidr & 98d¥ g9 & [T IYAFT Bl A arell
Apferee B -

(1) META (2) COHEART
3T WS

(3) PRISMA (4) MAXIME
JITRSAZTHTAT THIEFISTIRIR

The measurement scale with an absolute zero is :

e g arel "o ®

(1) Ratio Scale (2) Interval Scale
RRIGEEINE FTT AT
(3) Ordinal Scale (4) Nominal Scale
Shieh HTII GUEERCIESTI
17 P.T.O.



